Tutorial No. 2, ELG2336, winter 2008

Problem 4.54
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Figure 1: Problem 4.54

Known quantities:

The values of the impedance and the voltage applied to the circuit shown in Figure 1.

Find:

The current i(¢) in the circuit.

Analysis:

Assume clockwise current:
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Problem 4.55
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Figure 2: Problem 4.55

Known quantities:

The values of the impedance and the current source shown in Figure 2

Find:

The voltage v(7)

Analysis:

Assume clockwise currents:
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Problem 4.56
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Figure 3: Problem 4.56

Known quantities:

The value of the impedance and the current source for the circuit shown in Figure 3.



Find:

The current I;

Analysis:

Specifying the positive directions of the currents as in Figure 3:
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Problem 4.57

Figure 4: Problem 4.57

Known quantities:

The values of the impedance and the voltage source for circuit shown in Figure 4.

Find:

The voltage V,

Analysis:

Specifying the positive directions as in Figure 4:
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Problem 4.60
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Figure 5: Problem 4.60

Known quantities:

The values of the reactance X;= 1 kQ, X~ 10 kQ, and the current source I=10245 ° mA for circuit
shown in Figure 5.

Find:

The voltage Vo

Analysis:

Specifying the positive directions of the currents as in Figure 5:

V. =Zeq] =(Z,+Z.)[ =0+ jX, +0-jX.)I=(jl KQ-j10KQ)-10£45°mA
=V, =(-9KQ)-10£45°mA = (9£-90°KQ)-10£45°mA =90 -45°V

v, =90cos(wt —45°)V



